(Survival Analysis)

(Survival Analysis)

(regression analysis)

linear model)

(survival model)
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(genera



T F(t)
Xi(i=1,2,-,p:
(survival function)
(survival rate)

S(t)= P(T>t)

1995 11 31

S(11) = P( T >11)

(hazard function,

() = 5oy
t
t
T f(1)

(probability density function) , F(H)=F'(v

» S() = 1- F (1)

h(t) =- S (InS(1)

S(t) = exp{- foth(u)du}
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T
F
)
F
@
1 1
hazard rate)
@
T
-------------------- 3
................. @)



T Xl,X 2"",Xp

(exponential nature)

log (T) X
log (T) = a+ X1+ B X+ o+ X + € ------- (5)
, €
log (T) X
log (T)
log (T) (
(Weibull distribution)) . B

(maximum likelihood method)

¢ )

SAS Lifereg Procedure
(survival function) (survival rate)

, : T

(log-linear regression model) . ,
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Lifetest Procedure

CY'95

. 29

CY'96 CY'97

19.6%
84%

(19.6%)

A,BC 3
CY'95
3,514,868
< -1>
61.3%
35.7%
80.4%
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24.8% . 4

10 13% . ,
29.7% ,
( ) 31.9% L
17.4% (11.8%)
< -1>
( %
Al
B+C
A) ® © |©°
3,514 /1100.0| 14,141 | 6,285 172
377 10.7| 3,108 459 10.6
2,153 | 61.3| 5,795| 2,884 24 .8
2-1. * 1,180 | 33.6| 2,514| 1,190 319
2-2. * 973 | 27.7| 3,280| 1,694 19.6
3. 688 | 19.6| 3,260| 2,592 118
4, 296 84 1,979 350 12.7
4-1. *
( ) 73 21 389 122 143
4-2. * 223 6.3 1,590 228 123
2-14-1. * 1,253 | 35.7| 2,903| 1,312 29.7
1,24. * 2,826 | 804 | 15,366 | 3,913 174
*
10) ,
10) ( , 1993)
, '95
b I92
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-2>

98.0%

38.7%, 384%

5
20.6%
'95
, '95
'92

4
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B 41.2%
61.3%

20 30

1 58.2%,



< -2>
. %9
377 10.7
2,154 61.3
688 19.6
296 84
A 1411 40.2
B 1,450 412
C 654 18.6
71 2.0
3,444 98.0
1,753 49.9
1,762 50.1
20 189 54
20 1,361 38.7
30 1,351 384
40 474 135
50 140 4.0
1 160 46
5 2,044 58.2
1 1,040 29.6
1 271 7.7

(survival rate)
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(survival function)

y (survival rate)

1)
, < -1>
120 (12
) . 36
@)
3
'Y 6
60 G )
(
) ‘87 1
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2)

1 1223 3 & 5 & 8 5 0110120384 56 177 181020 2

FE|2|ZH7HE)

10%
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EXE
RRPRABRURRE

11233465 B 8101 213 144 15 18 17 18 19 210 221
TP N4

3)

(underwriting)
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1T 12 3 # 5 6 7 8 A0 11112013 14 15 160 17 18119 20 211 2
FRIZIZHANR)

4)
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fa: E——

1 123 M 45 8 & 7€ 210011122133 144 155 156 177 188120 210 22

FE|ZIZHHE)

5)

50 20

40
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s

H:% -

m}é £

m.

H:%.
O
& 9FR -
K

,-_L‘%..

JRE

IR -

108E -

(B

1T 12 3 4 85 & A B S 101 121130 14 150161 17 181 131 21 211 24
T2 X HE)
6)
< -6>
1
, (. )
5
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11)

1# 0 o| 2k
10k - 5Rak

- - - 5O - 128

. :
o N L L.
oy gy, |
1 12 23 M & B 6 7B B 100111 122 133 144 185 1688 177 183 190 210 24 230
BR|7|ZHH Y
(parametric method) . SAS  Lifereg
Procedure : T
3,514,868 . 379
3,514,489 : . log (T)
11) , 1
1
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log (- log (S(T)))
(Weibull distribution)

SAS Lifereg procedure (a) (5)
, “ o 4
p-value . ( ,
B' T 1 1
12)
1)
-3> . CY'9%5 3
4, 3, 2, 2, 5 ,
4 20
12)
3
3
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< -3>
7(2 p-value ()
1 | 3.37780855 0.00412| 672111.8| 0.0001 Intercept
3 234189.3| 0.0001
1 |0.11130002 | 0.002591| 1845.778| 0.0001 3450
1 | -04659779 | 0.002122 9999.9| 0.0001 -10.916
1 | -0.7851112 | 0.002292 9999.9| 0.0001 -15.941
0 0 0 .
2 0.0001
1 | -0.6101828 | 0.00158 9999.9| 0.0001 -13.386 A
1 | -0.3795522 | 0.00159 9999.9| 0.0001 -9.256 B
0 0 0 . . C
1 3522.235| 0.0001
1 ]10.23396729 | 0.003%42| 3522.235| 0.0001 7.725
0 0 0 . .
1 34816.22 | 0.0001
1 |0.20529318 0.0011 9999.9| 0.0001 6.679
0 0 0 . .
4 5054096 | 0.0001
1 -0.2995155| 0.00365| 6732334 | 0.0001 -7585| 20
1 -0.3919572 | 0.002904 9999.9| 0.0001 -9.503 20
1 -0.2141707| 0.002899| 5456.037| 0.0001 -5.650 30
0 -0.0608052 | 0.003122| 379.3883.| 0.0001 -1.729 40
0 0 . . 50
3 175529.8| 0.0001
1 1.1351342 | 0.003446 9999.9| 0.0001 61883 | 1
1 |0.68903658 | 0.002208 9999.9| 0.0001 29.066 5
1 |0.30426676 | 0.002225 9999.9| 0.0001 10422 | 5 1
0 0 0 1
(t=0)
35 10.9
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159

. FY'9513)

’

13)

(FY)

(CY)



-1>
2%

7.7

- 35 -

(life cycle)

C, B A

6.7



50
7.6 , 20 95 , 30 5.7

17
: 1
, 1 619 , 1 5
291 .5 1 104
( )
2)

- 36 -

, 40



< -4>

7(2 p-value ()
1 | 190782057| 0.020738| 8463.601| 0.0001 Intercept
2 5294261 | 0.0001
1 | -0.7611051| 0.003371 9999.9| 0.0001 -3.501 A
1 | -0.7282387| 0.003847 9999.9| 0.0001 -3485 B
0 0 0 . . C
1 1515.869| 0.0001
1 | 0.29019316| 0.007453 1515.869| 0.0001 2.269
0 0 0 . .
1 1457272 | 0.0001
1 0.0901018 0.00236 1457272 | 0.0001 0.635
0 0 0 . .
3 1525.731| 0.0001
1 | 025571793 | 0.020431 156.6606 | 0.0001 1963 20
1 | 019407948 | 0.020415| 90.37398| 0.0001 1443 30
1 | 0.07457117| 0.020971 12.64436| 0.0001 0.522 40
0 0 0 . . 50
3 305513.9| 0.0001
1 | 3.17308613| 0.008707 9999.9| 0.0001 154182 1
1 | 237154105 0.004672 9999.9| 0.0001 65.456 5
1 | 138249046 0.004187 9999.9| 0.0001 20113 5 1
0 0 0 1
) , C , A B

35
93 134
, 23

(7.7 )
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0.6

16 44
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6.7

201 154.2
104 61.9
_5>
C, B A



< -5>
7(2 p-value ()
1 | 296810134 | 0.003676| 652033.3| 0.0001 Intercept
2 22107.04| 0.0001
1 | -0.2581319 0.00186 9999.9| 0.0001 -4 4261 A
1 -0.0881246 | 0.001762| 2500.144 | 0.0001 -1.6411 B
0 0 0 . . C
1 636.8026 | 0.0001
1 | -0.1325666| 0.005253| 636.8026| 0.0001 -2404
0 0 0 . .
1 10266.61| 0.0001
1 | 0.13400794 | 0.001323 9999.9| 0.0001 2.7899
0 0 0 .
4 42519.87
1 | -05191695| 0.004046 9999.9| 0.0002 -78793| 20
1 | -04314665| 0.003118 9999.9| 0.0001 -6.8179 20
1 | -0.2901553| 0.003109| 8712.149| 0.0001 -4.8998 30
1 -0.1169932 | 0.003352| 1218.211| 0.0001 -2.1480 40
0 0 0 . . 50
3 36824.31| 0.0001
1 | 059392125 | 0.005645 9999.9| 0.0001 157794 1
1 | 0.39093123| 0.002271 9999.9| 0.0001 9.3064 5
1 | 0.23260984 | 0.002311 9999.9| 0.0001 5.0950| 5 1
0 0 0 1
24
, , 28
6.7




8.1

21 79

C B A
35 103

- 40 -

50 158
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< -6>
7(2 p-value ()
1 | 251938339 | 0.019192| 17056.07| 0.0001 Intercept
2 1464469 | 0.0001
1 -1.780046 | 0.007835 9999.9| 0.0001| -10.3264 A
1 | -1.1626771| 0.005355 9999.9| 0.0001 -3.5376 B
0 0 0 . . C
1 2174.019| 0.0001
1 | 050036264 | 0.010731| 2174.019| 0.0001 8.0652
0 0 0 . .
1 8961.269 | 0.0001
1 | 026701996 | 0.002821| 8961.269| 0.0001 3.8016
0 0 0 . .
4 15347.15| 0.0001
-0.1808064 | 0.010254
1 3109137 | 0.0001 -2.0545| 20
-0.3439984 | 0.008379
1 1685429 | 0.0001 -3.6154 20
-0.0086283 | 0.008387
1 1.058482 | 0.3036 -0.1067 30
0.0735512 | 0.008944
1 0 0 67.62348 | 0.0001 0.9480 40
0 . . 50
3 135929.2 | 0.0001
1 | 216415622 | 0.018396 9999.9| 0.0001 95.7313| 1
1 | 146628419 | 0.017639| 6910.187| 0.0001 414003 5
1 0.0726559 | 0.017995| 16.30166| 0.0001 09360 | 5 1
0 0 0 1
, 3.8
21
0.9
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95.7

< -7>

, , 113 196

178

, 18.6

222 301
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< -7>
7(2 p-value ()
1 3.6742612 | 0.020118| 33353.75| 0.0001 Intercept
2 17533.39| 0.0001
1 | -03377899| 0.007066| 2285.318| 0.0001| -11.2994 A
1 | -0.6851302| 0.006589 9999.9| 0.0001| -195504 B
0 0 0 . . C
1 2716499 | 0.0001
1 | 037291499 | 0.007155| 2716499 | 0.0001 17.8155
0 0 0 . .
1 1182.126| 0.0001
1 | 0.10977391| 0.003193| 1182.126| 0.0001 45735
0 0 0 . .
4 18900.51| 0.0001
1 | -0.6366437| 0.010384 | 3810.366| 0.0001| -185634| 20
1 -04103797| 0.009464 | 1880.175| 0.0001| -13.2682 20
1 | -0.10972%4 | 0.009455| 134.6818| 0.0001 -4.0963 30
1 | 0.08608384 | 0.010032| 73.63925| 0.0001 3.5436 40
0 0 0 . . 50
3 2314.208| 0.0001
1 | 056687954 | 0.018313 958.22 | 0.0001 30.0677| 1
1 | 0.64002033| 0.018122| 1247.296| 0.0001 35.3367 5
1 | 044600574 | 0.018798| 562.9077| 0.0001 221540| 5 1
0 0 0 1
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4.1

3.6



< -8>

7(2 p-value ¢ )
1 | 3.05070512| 0.003198| 909970.9| 0.0001 Intercept
2 8857.188 | 0.0001
1 -0.1286289 | 0.001713| 5640.174| 0.0001| -2.55042 A
1 | 0.00414497| 0.001699| 5.950051| 0.0145 0.08777 B
0 0 0 C
1 226.7678 | 0.0001
1 -0.2167461 | 0.014393| 226.7678| 0.0001| -4.11756
0 0 0
1 13578.31| 0.0001
1 | 0.15673645| 0.001345 9999.9| 0.0001 3.58553
0 0 0
4 3489.946| 0.0001
1 -0.1189696 | 0.003712 1027.07| 0.0001| -2.37008| 20
1 | -0.0858681| 0.002614| 1078.708| 0.0001| -1.73870 20
1 | -0.1219912| 0.002552| 2285864 | 0.0001| -2.42668 30
1 | -0.0423002| 0.002727| 240.6057| 0.0001| -0.87517 40
0 0 0 50
3 18876.69 | 0.0001
1 | 024703879 | 0.003605| 4696.268| 0.0001 592130 1
1 0.3052607 | 0.002265 9999.9| 0.0001 7.54305 5
1 | 0.21093101| 0.002314 | 8311.046| 0.0001 496195 | 5 1
0 0 0 - 1

09 24
50 59
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< -O>
< -O>
3450
-10.916 i i i i i
-15.941
A -13.386 -3591| -44261| -23930| -35825| -10.3264
B -9.256 -3485| -1.6411 0.6688| -0.8250| -3.5376
C
7.725 2.269 -2404 | -4.3166 2.3975 8.0652
6.679 0.635 2.7899 34934 0.1694 3.8016
20 -7585 .| -7.8793| -1.7371 05521 | -2.0545
20 -9.503 1963| -6.8179| -15725 1.1230| -3.6154
30 -5.650 1443| -48998| -2.1901 29669 | -0.1067
40 -1.729 0522 | -2.1480| -0.6804 2.3513 0.9480
50
1 61.883| 154.182| 15.7794 | 14.7100| 144941 95.7313
1 5 29.066| 65456 9.3064 74026 9.1759 | 414003
5 1 10422 | 20.113 5.0950 4.7993 2.7519 0.9360
1
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-O> (
A -11.2994 | -10.0684 | -33.1232| -255042 -3.316
B -195504 | -10.3330| -40.3642 0.08777 -3.105
C
17.8155 -2.2208 27.0087| -4.11756 55254
45735 -1.7579 4.1601 3.58553 3.374
20 -185634 | -10.6559| -34.7957| -2.37008 -6.468
20 -13.2682 -93725| -20.0929| -1.73870 -3.784
30 -4.0063| -12.3191 0.1292| -242668 -2.252
40 3.5436 -9.3830 102736 | -0.87517 -0.925
50
1 30.0677 11.9871 59.7839 5.92130 32.941
1 35.3367 16.6744 23.2811 754305 17.291
5 22.1540 24,0293 15935 496195 7311
1 -
'“Y 6




C, B A
A
95 4
A, B C
14) : A, B C
19.6
14)
A '95
: , B C
68 95
A - -
B 240,818 95
C 137,049 68
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